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PeV-SUSY : [Wells (2004)]

1 Spread SUSY : [Hall, Nomura (2011)]
ngh Sca/e SUSY Pure Gravity Mediation: [Ibe, Yanagida (2011)]

0(100)TeV | &, £, h, H, G

~ N
v

O(1) TeV
Anomaly Mediation
—— [ Giudice, Luty, Murayama, Rattazzi (1998) ]

[ Randall, Sundrum (1998) |
—

. Wino LSP I
0

126 GeV

[2]



M+ — Mo at tree-level

~

« Wino = SU(2) triplet Majorana fermion (W+, WO, W_)
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M+ — My at one-loop level

= . . [Cheng, Dobrescu, Machev (1998)]
« One-loopDEFSMNEE, [Gherghetta, Giudice, Wells (1999)]
[Feng, Moroi, Randall, Strassler, Su (1999)]
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Naive estimation of two-loop contribution
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Lifetime of charged wino : Tyi/+
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Decay of charged wino at LHC

« Charged Wino'LHC T CTEES5CARIITFILARZ B39,
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Two-loop calculation
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Mass splitting: 0m = my,+ — My
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Lifetime of charged wino: T+

Excluded by ATLAS [hep-ex/1210.2852]
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Latest result (2013 July)
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Why non-decoupling?

* It’'s Coulomb energy!

[ Cirelli, Fornengo, Strumia (2005)]

Coulomb Potential of massive vector boson:
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